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Solution:
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Solution:

Problemn 4:

Solution:

The S.D of the variate x is o. Find the S.D of the variable

Co-efficient of variation of two series are 75% and 90% and their standard deviations

15 and 18. Find their mean.

Co-efficient of variance = _—;xm{] = for first series 75 = 1_§x100 =Xx=20
X ;

and for second series 90 = @moe = X =20.
X

Thus both the series have same mean i.e. 20.

ax +b
. a, b, c are constant.

ax+b

Lety = :>y=3x+E:>y=Ax+B
c ¢ ©C

where A = 2 and 2 = ¥=AXx+B and hence

c Cc

y-y=Ax+B—(AX +B)=A (x-X) = (y-V)* = A’(x X’
= Xy -y )’ = A’ (x -X)’= no,” = A? (ne,’) = o, = |Aloy.

Hence S.D is multiplied by |A| = ‘%‘ .

The number of observations in a group is 40. If the average of first 10 is 4.5 and that of
the remaining 30 is 3.5, then find the average of the whole group?

Xy +Xg+ oot X _ 45
10
anidl- g e X10 _1a 5
30
XXt +Xgg 45x10+3.5x30 _ 150 _15
40 10+30 40 4

For a set of 100 observations, taking assumed mean as 4, the sum of the deviations is

= 11 cm, and the sum of the squares of these deviations is 275 cmZ. Find the coefficient
of variation.
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Coefficient of Variation = 2 x100 = —— x100 = 41.13% .
X 3.890
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